.Solving Equations Containing Integers

Warm Up
Use mental math to find each solution.

1.7 +y =15 y =8
2. X +-9=09 x = 81
3. 6x =24 xX=4
4. x - 12 =30 x =42
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.Solving Equations Containing Integers

Essential Question:
How do you solve one-step equations with integers?

Standard:

MCC7.EE.4: Use variables to represent quantities in a real-world or
mathematical problem, and construct simple equations to solve
problems by reasoning about quantities.
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.Solving Equations Containing Integers

Learn to solve one-step equations with
integers.

Equation Song
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http://youtu.be/oIxxqztQz3Y
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.Solving Equations Containing Integers

Copy the following in the foldable for 1-Step Equations

Steps
1.Draw a line down the equation through the
equal sign.
2.Identify the operation taking place.
3. Do the inverse (opposite) of that
operation.
4. Do the same to the other side of the

equation.
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.Solving Equations Containing Integers

This example goes in foldable

Solve each question. Check each answer.

-6+ x=-7
-6 + x = -7
+ 6 + 6 Add 6 to both sides to
x = -1 isolate the variable.
Check
-6 + x = -7
6 + (-1) 2 -7 Substitute -1 for x.

-7/ = -/v True.
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.Solving Equations Containing Integers

A. Goes in the foldable B. Goes in Example section

Solve.

A.n- 2,75 = 8.3

n-2.75= 8.30 Use the Addition Property of Equality.

Add 2.75 to both sides.
+ 2.75 + 2.75

n = 11.05
B.a+ 32.66 = 42
a+ 32.66 = 42.00 Use the Subtraction Property of
Equality. Subtract 32.66 from both
-32.66 -32.66 sides.

a = 9.34
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.Solving Equations Containing Integers

Goes in example section

Solve each equation. Check each answer.

-3+ x=-9
-3+x=-9
+ 3 + 3 Add 3 to both sides.
X = -6
Check
-3+ x=-9
-3 + (-6) £ -9 Substitute -6 for x.

?
-9 =-9y True.
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.Solving Equations Containing Integers

Goes in Foldable
Solve. Write the answer in simplest form.

4 -1
9 +r = >
4 - -1
g T =3 |
4 ,r_ 4 = -1_4 Use the _Subtractlon Property
° 9 2 9 of Equality.
_ -9 8 : .
M= 18" 15 Find a common denominator.
17
R Subtract.

You can also isolate the variable r by adding the
opposite of 4, -4 to both sides.
9 9
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Goes in the example section
Solve. Write the answer in simplest form.

3_5
X=32=73
x- 3 =5
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Goes in example section

Solve. Write the answer in simplest form.

3_7
X— 88
X = § = Z
8 8
x-3+3=274+3 Use the Addition Property of
8 8 8 8 Equality.
1 .
X = 1—80 =17 Simplify.
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Goes in the foldable

Solve each equation. Check each answer.

b
(=5) (g) = (=5)6  Multiply both sides by —5.

b =-30
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Goes in example section

Solve
X
is = 5.4
X
— = 54
4.8
Use the Multiplication Property of
X .48 = 5.4 . 4.8 Equality. Multiply by 4.8 on both
4.8 sides.
X = 25.92
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.Solving Equations Containing Integers

Goes in example section

Solve.
X
3§ = 2.4
X
55 T %
' Use the Multiplication Property of
X Equality. Multiply by 3.5 on both
135 = 24 [ | 35 Sides.
3.5
X = 8.4
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.Solving Equations Containing Integers

Goes in example section

Solve each equation. Check each answer.

-400 = 8y
-400 = 8y
_4(;0 = 82);/ Divide both sides by 8.

-50 =y

@ HOLT McDOUGAL, All Rights Reserved



.Solving Equations Containing Integers

Goes in the foldable

Solve.
9 = 3.6d
9 = 3.6d
9 3 64 Use the Division Property of Equality.
o= Divide by 3.6 on both sides.
3.6 3.6
22— ¢

Think: 9 + 3.6 = 90 + 36

3.6
2.5=d
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Goes in the foldable

Solve. Write the answer in simplest terms.

3 1
8x 4
3. _1
8% T4 | | .
3¢.8=1. g2 _II\_/IhuItlply byll.fthe reciprocal ofg.
8 § 41 § en simpliry.
X = %
To undo multiplying by 3, you can divide by %

8
or multiply by its reciprocal,

w|co
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Goes in examples
Solve. Write the answer in simplest terms.

4x = 8
9
4y = g Multiply by the reciprocal of 4.
4% - 1:22’ 1 Then simplify.
4 9 41
X = 2
)
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Review Video

Class work:

Workbook Pg. 109, 115, 121
Choose four problems from each page. You
must have one problem from each operation
on each page. 1l-addition, 1-subtraction, 1-

multiplication, and 1-division
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